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«Wealth maximization is a superigy ., orion than

1. (@) maximization.” Dg 0 :
profit you ggree:
reasons.
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(b) A finance company makes an offer to deposit a

<um of Rs. 35,000 and then receive a return of Rs.

3960 p.a. perpetually. Should the offe'r be
- accepted if the rate of return is 12% p.a.? Will the
decision change if the rate of returnis 11% p.a.?

Give

Or, (e - |
(a) What are the major financial decisions taken by
finance managers?
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(b) Ramesh rented a house for 7 months.atl t.he reEnt
of Rs. 3,923 per month. Entire mone€y 18 lying with
him. He now plans to invest this WORCY @ 9% pa.
to get'Rs. 65,000. For bow many Years is the -

e b :ced aMount?
deposit made to realise the desired amount?
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2. ABC Limited has a machine with an additiorial life of 5
years which costs Rs. 10,00,000 and has a Bébﬁ value
of Rs. 4,00,000. A new machine costing Rs. IZ?,OO,OOO
is available. Though'its capacity is same as that of the
old machine, it will lead to a saving in variable cost 10
the extent of Rs. 7,00,000 per annum. The lifq of the
machine will be 5 years at the end of which it will have
a scrap value ofg@; 2,00,000. The income qu;t }ate is
40% and as rgtélicy the firm does not make an
investmqn@the- yield is less than 12% p.a. The old
| machine,?i?sold today, will realize Rs. 1,00,000; it will
- have no'salvage value if sold at the end of 5 years. The
. company uses straight line method of depreciation.
Capital gain on sale of old machine is also subject to .
 the tax rate of 40%. Advise ABC Limited whether or-
not the old machine should be replaced. ‘

ABC fdto & W & wyftn § e Maaster 5 af
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(a) ‘R Limited is considering to instal a new project
~‘Costing. Rs. 7,50,000 with life of 6 years and no
salvage value. ﬁ% rate of the company is 40%

"~ and it uses st t line method of depreciation.
“The cstim'a@ profits beforg depreciation and tax

L _(PBDT)ﬁ as follows:

I Year Rs.

; 1 1,50,000
2 2,00,000
3 2,25,000
4 2,50.000
3 3,00,000
6 : . 4,00,000

':.."fYou are required to compute:
-.(i) Payback period
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(ii) Profitability index at 12% discount rate.
R fifo T 7§ qftalor @ 9T H H AR H
@ 2 frgs o ¢ 7-5 @@ Go, AT FH 6

@ F 2 e ad w W Q@ i
(PBDT) &9 1 :

B i %0

1 1,50,000
2 2,00,000
3 48~ 225,000
s 2,50,000
5 §®V . 3,00,000
6 4,00,000

AT TOAT FA

() @ A sEy
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(b) When do NPV and IRR give conflicting rankings
in capital budgeting? Explain with examples.

{olt e & NPV 791 [RR && giorh A0 <d
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o (WACC)__.thh by book value and mgryet value
weights from the following information:

—_— “‘_'“‘“T
5% Term loan _ [12,00000
WCumulative preference share 3,00,000
capital ; ¥k
Equity share capital (1,00,000 shares) 10,00,000
Retained earnings 15,00,000
LT()tall - ¢ . 40,00,000

The market value of equity shares is Rs. 30 pér

share. The company pays a constant dividend of

Rs. 3 per share every year. Assume tax rate @
35%. '

Frefafed ol ¥ T8 EF T e
T iw%gﬁ% i ataa @@ (WACC) i

2O :
%o
8% wafy wom - 12,00,000
9% T Afem stw o 3,00,000
: . 10,00,
qAan 3w 4sft (1,00,000 3. i
am 40,00,000
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',(b) Defme Leverage What are the different types of
!everage‘? Explain them with example.

I @ oty AN Iem X f‘w m
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- The follomng are the data rcgardmg two companies P
: and Q bclongmg to the same equivalent risk class:

: Pamculam . |Company P Company Q
{Number of ordinary shares 90,000 1,50,000

' -‘ Market price pershare - | Rs. 1.20 | Rs. 1.00
'16% Debentures - @ 60;000. —

: dd
o Proﬁt before interest ﬁ% Rs. 13 000 | Rs. 18,000
T
All prof:ts aftcr dcl@um interest are d:stnbuted as
dmdend '

; You a_rc‘rlcqui-rcd to-explain how under Modigliani and
Miller Approach,. an investor holding 10% shares in
-Company P will be better off by switching his holdmg

toCompanyQ |
_'Wahﬂmﬁrrﬁaﬁirmﬁtﬂpmoﬁ
mmmt
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l. o | wh P Q)
v st o W | 90,000 | 1,50.000
QT g of st | ® 1:20 | %0 1:00
6% TN | %0 60000 = -}
S W TR AN %o 18,000 | To 18,000 |
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. . By '@--' b ks Yl
4. (AYi Calcylate theg(ﬂ)cc per-share as per Walter’s -

Py 4| %8 \ . _ o P :
model: N -

i) & b e e

{Earnings gfthe company Rs. 15,00,000 |

‘Dividendspaid .~~~ ‘| 'Rs.9,00,000

:f Number of ordinary shares| . = |

' utstandlng | 4 Q,O0,000‘ g |
Tice earning ratio | 833 .

. Rate of return on investment ' '15% -

Are you satisfied with the current dmdend pohcy

: of the firm? If not, what should . be 0pt1mal :
. dividend pay-out ratio in this case?

wmmﬁwﬁrw@m
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l(b)-W-hat are the various'dcterminapts of dividend

policy of a firm? | * e
wd # aviw Hfifd F fafvs fafe = E? 7

P Or (379am) _
(a) Assuming cost oftequity is 11%, rate of return on
investment i Q;:Z\% and earnings per share are Rs.
- 18 .calculg@«price per. share by ‘Gordon Model’ if
 dividend pay-out ratio is 10% and 30%. a
T A EU G GHAT R AW 11% & fRw W
It & 12% § 991 o1 5fT AW 15 Fo
g7 Hed’ A WA HW Hou g HEC AR
i SR AN 10% T 30% ¥ | 8 |

(b) What is meant by stable dividend policy? Explain
the methods of maintaining stability in the
payment of dividend. '
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5. ABC Ltd. is planning to sell 1,80,000 units next year. -
The expected cost of goods is as follows: ' 3

Flaw materials
F)ircct labour
Overheads (including depreciation of 15
Es.s per unit)
Total cost «(@ \ 40
ﬁroﬁt R > | \ '. 10 2 4
|Selling pr\l\)\i\\g\\w- _ | 50 e
The following is the additional information: ’
Rﬁw material in stock Avcrage 2 months
Work in progress Average n month
Finished goods in stock Average 1 month
Credit allowed by suppliers Average 1 month
Credit allowed to debtors = Average2 months | '
‘Lag in payment of wages Average 1 month {i

Lag in payment of overheads  Average 12 month

15% of goods are sold on credit basis. Cash in hand is i
expected to be Rs. 20,000, From the above |
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Wntc short notcs on the followmg (any three):

: (a) Cash Budget
(b) Reordcr Pomt for Inventory
I(c) Credit Pohcy L
(d) Opcratmg Cycle
ﬁ:{fﬂﬁaﬂ ER ] W ?ﬁ? W G‘F&M feoquit aﬂﬁﬂ{
. (@) ﬂmm ' | )
(b) qm'q;a‘l % f‘Eﬂ:{ 5{ :m%ﬂ ﬁl-‘g’
"(c)m'{i':ﬂﬁ‘ ._
(d) wﬁamﬁ@ AV 15
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